Homework 6 — 8314 7|Z&A
Spring 2021, Differential Geometry I

[2017-A8] 321 22 = 37 R3] §F HHo] 213 F-E(curvature)o] 9Fol the]<2] 34 (unit speed
curve) v : R — R3] tha}te], A ~(s)o|A412] A E (tangent vector)S T(s), FHAME S N(s)a}
bt 4 B R = R%E B(s) = 3T(s) + N(s)2 et uf, mE F= tol] thsto] s = 004 s = ¢
A ZA po] ol 3rolet. s = 1 ]

2020 @T6Y-A3] F2= T3 R29]9] 9142 YAFA v : R — R dist] o : R - R*S
a(s) = v(s) + 9/ (s)2} oAt v&] FHE(curvature) Ky s = 19 HAZLS 7HATHT Stk o] T8
ka(l) = 5=2 o, #y (1)) gH& FoHA 2. 23]
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7|4 N(t)= 34 o o FHAHA(FYFHHAEHA, principal normal vector field, unit principal
normal vector field)o|t}. =4 3
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